T RXEREDHRITIR

FER26F1An _ _
XHEAH # B = =
1A58[ £ 5,000 | K= — ;%firﬁr‘ fir’rmﬂ%ﬂA%E*i”;i -
1H6E| %&*—I' 5000/ gﬁ%ﬁ%ﬁ:q:g&[:gmenﬁﬁﬁ H16FﬁE&Ij]jJ
1A7H| = 15,000 | EMGIFEZ 2B ERDEVGEEEITTR)
1A78|[ £ 15,000 | EA GG EEZ DB ERDEVWCKTEITR)
1A78|[ £ 15,000 | EA GG EE DB ERDEV (KT R)
1A7H| = 5,000 [\ -Fh gt NEHES
1A8H| = 10,000 | BEEF/NMEAARTRESERAXRES
1A9A| £ 10,000 | =L\ -Fh il EERESHES
1A9H| £ 10,000 | SV -FTh e E EMEFHFES (ZISF'HEIEIJFHE)
198 £ 10,000 BB DSV -FZ RS ELEAXES
1A108| £ 5,000 éL\T—iFﬁﬁEE,anéAﬁ%%ﬁ%‘EA
1A11B| = 8O00H B EEHBRITESHENES
1A11B| = S000A [ EERBEBEHEFRER
1A118| £ 3000 |ERIMX BASEESHEERARES
1128 = 10,000M |ZEEE IS ﬁﬂ]i“ﬁ%ﬁ%@%u
1A148| = 7.000M | FEFEER T E T XM ANMIBHER _
18148| 2 10,000/ | 2 TH A 757 Bl #5330~ CH X 2R-1Z31 & H 5 30K
18158 £ 6,000 éL\T—iFﬁ BEIEEEEREHENDDEL
1815H| %= 5000 | B E RIREEXIREBSHIFEARES
18168 £ 6,000 | XKEROFEEHERBESFTEEAXRES
18178 £ 10,000 | SV -FHA LS HBEIRSTES
18178 £ 10,000MH R EMHER S -BHRE
1A178| £ 5000 [IFFEEAHE LJG)IWAI‘J”E“:%EJ&EJK%
1A178| £ 6,000 [EM A BREEEFAXRES
18178 £ 10,000 émf—in%ﬁllaﬂ%%ﬁfﬁA
1A178| £ 3000 [V -FhEXBASESSHER
1A18A| £ 10,000 |SWVE-FHUEMEERHES
1A188| = 10,000 éL\T:iFiEEﬁ%éIE%ﬁEA(Eﬁ%EI HR)
1188 %= 10,000H |V -FHUEMESERFES (AEEIHER)
1A188A| %= 5000 |SWV-FEH 2o B AREEERIUASHEREERE
18188 £ 10,000 | XK= ERHEERRE
1A198| £ 1,000 | FRIEBASHER
1A198| £ 3,000 J:Kmﬁ%tfé i;ﬁﬁ%ﬁ ijj%@ﬁ%Aéﬁiﬁ;:’“f%ri
~ 15 % B iR &R =T ERENEEREMNELARAE
1H 195 = 7,000|I] $¥Iﬂ"7_‘5‘% *R’:DA
1A198| £ 5,000 [ERI KX EE
1H208| £ 50005 EEERABHERESHEERARES
1H21H| = 7,000 ﬁ*/}ETmL‘/b’3§}E¥.1$J§ SHER
1A218| £ 5000 | EMEXBASEESHENEL
1A218| £ 10,000 EfNfafEHEFHENER
1H21H| = 10,000 iﬁﬂ(ﬁlﬁﬂ’rmﬂ%ﬂA%ﬁﬁz
1A218| £ 10,000 | B E iR Bl S S AKX EHFERRES
1A228| £ 5,000 ﬁ[%ﬁ%@%u
1H228| £ 10,000 B ERETITEZXBRMESESSHEERARES
1A228| £ 5000 AR ZERERDEHES
1H228| £ 7000 | SNV -FEISEMEANESFEERARXRER
18228 £ 5000 | EbbmEEHREHEHEFERRBE
18238 £ 5000 | IFEEH SRR FTH LSBT FEEARES
18238 £ 7,000 | SNV -FHTEASESSHERES
1A238| £ 7,000 | SNV -FT EASESSHEBRRS EERAlTR)
1A238| %= 7,000 | SV -FT EASESSHERERS (KEEITR)
18238 %= 6,000 | SV -F A EHRX{RETSTHES
18248 %= 5000 (S =FiFthXRERNSTHERARS
18248 = 10,000 éUT:iFi%I%%T%%Iﬂ%ﬂ‘%%ﬁ%*ﬂ’ﬁ%
18248 = 5,000 éb‘f’iﬂL.%ThﬂK RE= —
18248 %7K 10,500 WAIZRE Ji*%(EqJHEEg/nKLEKKE H16THIEZh 5

EXER)FEATEL




XtHEAH | ®H XHE | - BE I —
1H24E ,%. 5,000F':J E*DIZ;":FIBE iﬂz*i::*ﬂi*.lt‘blﬁnﬁﬁ EJLE%ETMH?&
SHEBRER
1A26A| £ 5000 | Er@YBEXRESTHES
1A278| £ 7000 | RBXBASEESSHEDEL
18278 £ 10,000 | SV -FHEXZESHEFS
1A278| £ 5000 B ESESSTHES
18278 £ 5000 |V -FXREMXBARELESTHETNES
18278 %= 8000 |IFE R R4 EHAREMESHNZBHEEFAXRBE
18288 £ 6,000 15 EEASHFEAXRES
18288 £ 5000 | SWV-FHEEERSHEEARER
18298 £ 1,000 | SV -FHEE#HFEEARBESTERRS
18298 £ 10,000 [ SV -FHF XN R EREFEEFAXRES
N BERLPA RGBS AR5 5/ HEHTRER
1A29H| = 100008 | £ 1) s EET S
18298 £ 10,000 B EEEEYEE I EREXEXHBHELSAXES
1A298| £ 5000 [HFLEASHEEAXRES
1A298| £ 5000 /A IR ZERERDEHES
1A308| £ 5000 | KREZAESHEEAXRES
1A30A| £ 5,000 [E-KIZUNAH SV bnFUR RS
1A308A| %= 8000M | IBEF R EEREBNMTFEEARES
1A30A| £ 5000 | SV -FEBE I EEFHERAS
18308 £ 5,000 |15 £ B/ FELEHREF 26 FEFHEDEL
1A&E 764 544,500
ER25FEE BET 19544 1,559,700




